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The term " generatative grammar" which was introduced into linguistics by Chomsky in the mid-
1950s,is nowdays employed in two rather different senses.

5 chliko g 940 39 42 39501 A 3313 (gl 5125 53 130+ 485 Ll 39 (Kol Lawgi 45 'l 5" o

09y 0
B aex s ¥ dgaote daz i -V JolS e ez 5 ¥ ol ez 5
| 0 j g “dodS Ay AolS” Ao 5 A .
il oz ¥ Sl co anm 5 )
S aer ¥ Ciydy ) Al Aoz 5 ¥
a3l g8 cpl Ho.0lle g WMo (OlodS dlas & Cowl louo (yio (gLxo g pl 0 S 0 5158 Lo OS] DO o=\

Dl e lose oo b Ol jle g OlodS olawy s 31wl (Koo 4o 5 (yko
Gy dely dos 5 -V 33l dez 5 )

dgae daz i - el e aax 5 T

Fogud (o0 Domxo (S 5lg polic (slxo ¥ (2 3 0ksy g oy pwgedo (lizo Y plas” —IY

Gcl?)‘dm ¥ GML*O‘GL;M Al G'):uLsLu.a al é,.uébu.a-‘

SECUW) TR 0US Sz (eSS U5 5o (We haven't got no water) wile ailfgs &5 0,5 —\Y
Gl oY oyara claizl axg)
dg0i - et slaizlaigs ¥

COgu (0 D guuxn 4o 3 S (6l o3 Ll pl (g 5 oo 3l 5 Gbd 4y 51 S plus —IF

bae 0bj ey 5 ST L plisl Y S pllas o Shes Conle b sl -
daie gl b g0 4 bl ¥ asllas 3,50 9550 n Lalus -V
15-1n the following Persian noun group the head words are..............cc.uu....... .
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16-Determine the number of idioms and structure words in the following pieces of text.
(a) The nurse was looking after the patient.
(b) She was not interested in the hospital affairs.
(c) Could you possibly take this man on in your office?

1. 19 structure words and one idiomatic collocations
2. 14 structure words and two idiomatic collocations
3. 10 structure words and two idiomatic collocations

4. 12 structure words and no idiomatic collocations

17-Determine the type of varieties for A: Scientific text and B: Slang

1. A: Mode / B: Social dialect 2. A: Register / B: Style
3. A: Register / B: Mode 4. A: Mode / B: Temporal dialect

18-First choose the best choice among the Farsi translations given and then explain why you do not
accept the other choices?

"In the young there is a justification for this feeling."
1) et asg BB bl jo wlis! o

2) cowl au> g5 B8 PV IWE S OV RN H P 3R

8) 2,15 3929 (wlws! (0l gl (o Ulg 5o

- The first choice is acceptabe.The second and third ones are interpersonally unacceptable.

- The first choice is acceptable.The second one is ideationally wrong and third one is texually
unacceptable.

3. The second one is acceptable.The first and third ones are ideationally unacceptable.

4. The third choice is acceptable.The first and second ones are wrong textually.

19-Study The following English Lexical items and their Farsi equivalents and then determine in which
one lexicalization strategy employed is different?

1. light-headed 5w S 2. computer 4L/,

3. pragmatics bl jelhin 4 bicycle a3 y>90
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20-1n the following English noun group the qualifier is........cccccceeeeeeeneeee. .

" some important caveats to bear in mind"
1. important 2. some important caveats

3. caveats 4. to bear in mind
21-Determine the type of meaning relationship holding between the elements of A: employer-

employee and B: parent-child

1. both of them: Converseness

3. A: Converseness / B: In compatibility

2. poth of them: Hyponymy
4. A Synonymy / B: Complementarity

22-Sometimes in the dark we heard the troops marching under the window.
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23-We shall show our signs in the horizons and in themselves so that the Truth may become manifest

to them.
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24-For centuries nothing of Aristotle and his work was known outside the monasteries.

1o, 2 o arego 8 liwgs dil> 4 ) Sien

25-This is not to suggest that he is liked by the people but the opposition is not strong enough to

dislodge him.
1o S LS caagS 51 5l b s 558 SIS 0y alls Lo

2o 5e bl emlye ol (gl 4 Cons 0> 4 b e

3 ssity gl CansS aile 4 e g0z (g0 4y Cilliee

&

OS ol (S il Ay 4 st (598,04l Ll

26-The potential threat posed to national or parlimentary sovereignty.
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27-The best equivalent for"a white crow" is .......ceeeeeeeeeeecceeennnns .
1l e S 2 52l aloy
3 el or oo b SS Loz el i

28-The best equivalent for "a humble house: is .........cccueeeeeees .
1ol ol ails 2. sl ol ails 3 gl ol ails 4 i ol ails

29-1n the event of an all-out army attack,Slovenian militiamen would take to the countryside and
fight a war of attrition.

Tl S 2 iyt Sz 3 e ol S 4 S

30-Bush could project the tough cop image to boost his standing in the opinion polls at home.
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